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 In many cases classic leveling may by satellite leveling, especially in the difficult
accessible area. It permits to receive the faster and more precision results. The
conception of the normal altitude definition by GPS technique was formed in the work.
The analysis results of the altitude definition accuracy on the bases of the observation
results was presented.

1. Wprowadzenie

A� ��� &� B� >�����%�"� B�����&�"��� �%$��&%>�%���%�"� �� C�� �&D�� �� ��D��B��D� �B�>#D���
$>&��E�� F��?�� D�>�� C��� ��� A�>�� ���� B�����&�"���� � ���>������ �� >%>��?��� �%>�$����
ortometrycz�%�"�� !���� B�����&�"����� $�G��� B�&����C�� �� B�����#� C��� %� D�>�� H#�>�C��� ��� $�G��
&���&���� D�>��&�������&#D��%?���5��>���>%>��?�?��%>�$��������?���%�"��:���%&���&����� D�D

$>&��E�#� D�>�� $�����&��� &��D�?��I��%>�$����� ���?���%�"��J� �������"� ��&���%�"� ��"� �&�D�?�%

� >��B� D�>�� �&� #� $��$#�??��K�� ����������D��G &�������?��>$�
?�&#�>$��C�� ���� B�&�$���&�� �

??� ���� 9����$�� ������� F���?� ��� �%?� ��>&��&�� &� �E� �?�?���D>&%?� ���� �� �?�?����� �$�����I
$>&��E��C��� %���H#�>igeoidy.

J��&�&�B��>�����?�>%>��?#�456�&��>����E��?�������I�D�C���%$��&%>��������&�C� �������"
&���&��%�"� &� �%&���&����?� �%>�$����� B#�$�G��� J� �%��$#� �B���������� ��>�����D�� 456

���&%?#D�?%��%>�$��������B>�� �����&���&����&����B>�� ��J46����J%>�$��������B>�� ���������>�
&���&����&�&��?>$�?�B���?�>�E%�����$���������������?�������"�&�>��>���I���&B���� ������C�� �&D��

:�$E� ���I� �%&���&����� �>BGE�&� �%�"� B#�$�G�� ���"��$�� 456� D�>�� �%�>&�� ���� �
B�&%B� $#� >��>������� ?��� � $��>%�&�%�"�� J�� �?�� �G������� ��� �%&���&����� �>BGE�&� ��D
pionowej (wy>�$������ D�>�� �#��D� ��D?���D�  �$E� ���� 5�&%�&%��� ��C�� >�� �E� %� �%��$�D���� &
���#�&C�� ��������������&�����"��BE%�#���?�>L��%����>%C��E����C���%�&�>������%� �������%��&%
���������%?� ��o������B�E������������#?�L�&���C�������%��=��:��� owicz, 2001).

2.�F5��79��5! �9��������� ��6���!���7�5! �9���������������!��

; >��B� ξ � H#�>�C��� %� � � ���B>�� %� ��  �����%?� B#�$���� �%&���&�� >��� D�$�� �G�����
�%>�$��������B>�� ����D�h i normalnej Hn

��5�?�� &%��%>�$������ ���B>�� ����� �����?�����B#�$�#
&��"� &���������>��B#D����&�������I-

h = Hn + ξ                                                                      (1)
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5�&�D����� � � �%>�$����� ���B>�� ���%�"�  �� �%>�$����� ���?���%�"� �%?�C�� �$��������

� >��BG��H#�>�C��� %�� � ���B>�� %��J%&���&����� �%�"�� >��BG��?����� &�����&���I��%$��#D��

dodatko���B�?���%��������%D����#���%$��&%>�#D����#?��%�&�%�?� ���C��� %�

J� B����>&�D� ?��� &���  �� �����B����D�� � >��BG�� �%$��&%>�#D�� >��� B#�$�%� E��&���� �&%��

B#�$�%� ?�D���� �%&���&���� �%>�$����� ���B>�� ����� �&�� B�?���� ��>�����D�� 456�� �� �%>�$����

���?������B�&�&��%$��������������D���������&���#� ����B��G��>������%>�$�������D���;$�������

��B#�$���"�E��&�%�"�� >��B%�H#�>�C��� %�� ����B>�� %��B��k>%?#D��>��������?����?
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$�G��C��B���?���%��%&���&��>���?��� ����D?���D>&%�"�$�� ���G��

:�� �����B����D�� � >��BG�� ξ� �� �%&���&����� �%>�$����� ���?���%�"� ���%�"� B#�$�G�

wykorzysta���B��C��?�456�<MK6��4�D ������&�����������$�G�%?�&�>��>����������>L��?��D��&

7 parametrami.
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J%>�$����� B#�$�G�� ?����� �%&���&�I� �� �B����#� �� �G�������  �#C��C�� >��B����� J� �%?

przypad$#� �&G�� ���� D�>�� ��&>&��&��%� �� �&E��%� �B�>#D���� �B��$>%?��D�� $�� ������� �G����

�%>�$��������?���%�"������B>�� ���%�"-
22..... vCuvCuChH vvuvuu

n ++++= .                                          (4)

5�&%� �%&���&�����"� �%>�$����� B#�$�G�� &� � �%$��&%>�����?� B#�$�G�� E��&�%�"� ��� &�

�>������ ����� � C�%��� ��"� ��&?��>&�&������ 5#�$�%� ��� B�����%� ���D?���I� >�%?� &�>��C��?

�>&%>�$���������%&���&����B#�$�%������"����&�������B��������%I�?���D>&��� ���

K����%� �>B�?���I�� ���  �$E� ���I� �%&���&����� �%>�$����� ���?���%�"� �%��D� �%?�����


�%?���?��� �?��&����%��� #��D�?���&��� � �$E� �������%&���&������%>�$��������B>��dalnych z
ob>�����D�� 456�� M����&�� �BE%�#� �G��%�"� �&%���$G�� ���  �$E� ���I� �%&���&����� �%>�$����
elipsoidal�%�"�&�>��E��B�&� >����������B���%�=��:��� ����&���:��� ����&��������

3. Analiza uzyskanych wyników

Kampania PYRZYCE

W obliczeniach wykorzystano obserwacje GPS wykonane w 1995 r. w ramach kampanii
PYRZYCE�����%��$#�$�G��D��%&���&�����>BGE�&� ���B#�$�G��!!�$��>%��6��I�������D?���E����>&��

�$�� ��� N� (�� $?�� :E#C��I� >�>D�� ��>�����%D�%�"� �%��>�E�� �
�� C� &��%�� ;B���������� �bserwacji
�%$������ B��C��?�?� L��?��%?� 4556�� >��I� ��$���G�� �%�G������ B��C��?�?� 4O;8M9�� :�

����>L��?��D���%$��&%>������(�B#�$�G��E��&�%�"����D?#D��%�"���E%�?���&��%�������

J����������&�>���������%>�$��������?�����#&%>$�����&��������D��C��?���%�&��D�������>L��


macji programem GPSTRANS (kolumna 3 – stosowano wzór 3, kolumna 4 – stosowano wzór 4).
5��G��#D��� �%>�$����� ���?����� #&%>$���� &� �������D�� C��?���%�&��D� ���&� &� B�?���G�

satelitar�%�"�&�#����?%������G�������%>�$����� �%�$�����&�����"�B�&%B� $��"�B�&�$���&�D������

m. Rów����� #���&C� ���I��%>��B#D�� ����%>�$�����#&%>$��%�"�&��G��������������&�������%�$���

 �G�"�B�&%B� $��"� �G�������%>�$����� ���&%?�������%��$#� �����&��D�� �G������� ���� �� �G������

(4) – przekracza 1 cm.
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Tabela 1

F� ��5������5! �9������������!����7! 9��!���7���5����G��2������!�7��G

i transformacji programem GPSTRANS

Nr punktu �������� � ������� �

geometrycznej
�������� �

transformacji – wzór (3)
�������� � !"���#�rmacji –

wzór (4)

                                                      (m)                                      (m)                                         (m)

4013 82,088 82,079 82,083

5010 66,153 66,149 66,243

6012 39,936 39,913 39,913

6021 50,666 50,659 50,658

1704 41,288 41,296 41,298

1706 34,246 34,250 41,298

2359 24,362 24,360 24,366

2361 26,351 26,329 26,336

2703 44,923 44,937 44,937

2852 17,041 17,029 17,031

4358 68,470 68,479 68,470

4651 61,677 61,660 61,669

4857 77,613 77,642 77,638

5554 49,326 49,325 49,311

5605 88,987 89,004 89,001

3265 70,114 70,096 70,100

3462 61,361 61,363 61,365

3702 81,121 81,151 81,154

6602 26,954 26,955 26,981

Kampania NIW 1999

J��$������"�;�>&�%���&�E������>��I� ��>����� >$E� �D���� >��� &� >&����#�B#�$�G�� ��%>�� ���  ��
któ�%�"��%$������B�?���%�>�����������456���B�?���%��������%D����6��I���>��������D?#D����>&��

�$��(��N�(��$?��<G�������%>�$�����?�� &%�B#�$��?����>�������>����D�����B�&�$���&�D�����?�

J���?��"�$�?B������%$������ ������?��C� &�����>�>D�-

– pierwsza sesja – punkty LUKT, OLSZ, KORT, LAMA,
– druga sesja – punkty DOBM, RZEC, KORT, LAMA.

Obserwacje opracowano programem BERNESE v 4.0.
W tabeli 2a zestawiono wyniki uzyskane z transformacji oraz z modelu geoidy (Kadaj,

=������ ������� J� ����>L��?��D�� B�&%D?������ &��>&�� (� B#�$�G�� E��&�%�"�� :�� B#�$�G�� >����
przedsta�����D���� �%>#�$#��� �E��&���� D� ���B#�$�� �����������  ����%�� �B#�$�#�=;<�����$�
�(��� ?�� J%��$�� ����>L��?��D�� &� �%$��&%>�����?� >&����#� B#�$�G�� E��&�%�"� B�&� >����ono w
tabeli 2b.
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B7�������#%C� %� ">��;�0�����

Tabela 2a

KORT LUKT OLSZ DOBM LAMA RZEC 1000

H z niwelacji 119,490 94,490 172,564 101,850 157,671 159,474 106,188

H z
transformacji

119,533 94,422 172,560 101,887 157,669 159,419

H z modelu
geoidy

119,459 94,501 172,531 101,922 157,691 159,523 106,158

Tabela 2b

H z
transformacji

119,494 94,417 172,539 101,882 157,663 159,411 106,185

A�$� �%��$�� &� B�&� >������%�"� ��&#����G��� B#�$�%� ������� B�&�� ��>&���?� ���D?����%?

B�&�&� B#�$�%� E��&���� ?�D�� ��DC��&�D� �%&���&���� �%>�$������ ��$>%?����� �G������ �%>�$����
otrzy?��%�"�&��������D��������>L��?��D���%��>��������?��:���B#�$�G�������%�"��������&���>&��#
��D���C��B�&�&�B#�$�%�E��&�������B�&�$���&��������?��������������#��������?�������������

3��������DB�(�����

��� &%� B#�$��?�� >����� ��>����D� ��%>�� ��� &�E������ $��$�� B#�$�G�� ��%>�� ���� ��� $�G�%�"
�%$������ ��>�����D�� 456� ���&� �%&���&���� �%>�$����� ���?����� &�� B�?���� �������D�

C��?���%�&��D��J����������&�>���������%>�$�����#&%>$����&��������D�����&�&�����sformacji.
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Tabela 3

1000 KORT 1001 1002 1003 1004 1005 OLSZ

Hn z niwelacji 106,188 119,490 111,755 149,312 161,690 159,297 168,471 172,564

Hn z transformacji 106,191 119,486 111,768 149,286 161,698 159,297 168,478 172,544

Hn z modelu

geoidy (Kadaj)

106,158 119,456 111,728 149,290 161,673 159,274 168,449 172,547

M����&#D��� �%��$�� &� ������� �� &�#����?%�� ��� �%�$��  ��� B#�$�#� ����� �G������ �%>�$����
otrzymana z niwelacji geometrycznej i z transformacji przekracza 0,020 m.

�
�=9���������5! �9�����5����2������5!9��!5�������7�9��GH5�6������7��7�!��

���� ��>�����������456����>������"�$��$#� �����"�B�&%D�E�� >������G � C�� ��G��B��$�%$G�
D�$��  ����� �� �&�>�?� ���&�>��B����� ���"����C��� >&�&�CG����� �� �%&���&�����"� �>BGE�&� �%�"
B�&��?%�"��J%>�$�����B#�$�G��>���$���������G�����������B��#D��B�&�$�����������>������&���znie
?���D� �$E� ��������>BGE�&� ���B�&��?���������&���&$#�&��%?�����?�����?��I� �����"�&aufania.
K����$���B������BE%��E%���%I�?�������>��BuD�����&%���$�-

1000

KORT

1001

1002

1003

1004

1005

OLS

N

1,5 km

6,1 km

4,8 km

3,8 km

3,2 km

2,7 km

4,0 km
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– �%>�$��I������%�>����������D�D�>��� �&%�%�������&�����?�����%I���G E�?��E� G��
– ���B���� E����������&������%>�$��������%�"�B#�$�G��B�&�&�C�� ��G��
– ���B�&%���&%��������C�� �� �$E� ��C�������&������%>�$�����B�&%�&�E�����#����� D�>�

ona niepotrzebna (natomiast podawanie jej w sprawozdaniu).
:�� ��� ����� D�>&�&�� ���� �$�������� �%>�$����� &��$G�� B#�$�G�� !!!� $��>%�� J�� �?��� ��

?��� �� 456� �$�������� >�� �>BGE�&� ��� �� ��&��"� �%?�����"� 
� &� ��% ���E�� ��� �� ?�������
�%&���&������%>�$�����B#�$�#��;�������$�� %�B#�$�� !!!� $��>%�?���$���������%>�$��I�&��$#�

jest ona okre��������� �� &��$��>%�&��D��������D�����"���&��D��#��?��o ��>�����������

6&�&�CG��%?� B�&%B� $��?� ?����� ��&��I� &�$��D���� ���  #��� >$���� �$�D�� �%&���&����
przekroDG��$��%�� �&��&�%�"�� �����&���������������� ��?��"��CG���B��>$��C��B��C��?#�&����C�

B� �B����&�����&���P; ���
�J�>E�	�

;B�����%���%�>%>��?���"���%�B�&����B��� &����D����D?#D�� ��&��&��; �%���J�>E%����&

do������>��B#D��%�"��&�$-�; �����CG�������� $������ ������ ���$����J������5��>����9G����9��%�&�

9%>��&%����9��E��4E#�"�E�>$���=��&�����=��>���K%>��=E� &$���K%>��Q#�%�$���;E�����;>E��Eoga,
��E��5���������&���J� �����J�>E���CG�������� $������ ������ ���$������E��J�>E���J�>E�$��6���

J�>E�$���K� ���R>&������:#��D����<�����6$�����6�E���5�&�?>&��

9� ��������D?#D�� ����%��&�$���B�����D���%?�B�>���&�C��������B��� &����5�>�B�?���#�D�>�

�C�����&��%�B�&�&���$�&������� ���,��D��&�>��C��?�B��� &����B��� �B� �����>������%>��B�enia
��&� ��� >��� ����� &����� ��$��� �� �� >�#�������� :��� C�>��� &��# ����%�"� ��>&��G�� ?��D>$��"� &�>��C
?���� �%I� ��&>&��&��%�  ���� %�  �#>�#������D��J%�G��  E#C����� � ���$�� �� ��$���&��D�� �B����� ��
&�E�����#����$#����"���"���%�B�&����B��� &����D���&��������$������"%�>��&��>&�&�����F�E������
���B�&�$��D��B�B�&��&���&�>�����>B��&� &���� �����(�$?�� ���$G����CG��%?������ $��%?���egu
�&�$������&���$?�� ���$G�� ��� ����C�����C#��&�$���:E#C�������$���B�&%D�������B� >������ anych
"�>���%�&�%�"�!�4J���E��&����&�$���>���L�����B��� &������������$#�

5�?���%����� ��������D?#D�-
– 2750 odcinków,
– E��&��� E#C��I�� ���$G��
�������$?
– ��� ���� E#C��I�>�$������
��������?
:���� ����  ����>&%>�$��"�B�&�$��DG��B�B�&��&�%�"� �&�$� &�>��E%� &�>���������� >#?��%�&��D

���������&�E��&��$�������
J���?��"���D��$�D������D?#D���D��&�$�� �BE%�����; �%���J�>E%��>���$���������>BGE�&�dne

B�&��?�� �� �%>�$����� �%>���%� B#�$�G��� &��$���&����%�"� D�$�� B#�$�%� CEG����� B���� ���� �
kie�#�$����B�&�$��DG�� ������&��&�%�"���:�$E� �������%&���&��� �%�"�B#�$�G���$��������B�&�&
>B��D���>�G��>����>��B#D�ce:

– �>BGE�&� ���B�&��?����$�D�$�B#�$�G���>���%�!!!�$��>%�

– �%>�$�������$�D�$�B#�$�%��$�������� ��C���������D��!!!�$��>%�
5�&�$��D�� �&�$� >�� �&�>��� &��$���&������ �� �������� ��# ���  �>��B�%?�� &�  ���� � � �>�G�

B�&��?%�"� ���%>�$������%�"��5��� #D�� ������� C�� �����%$�����%������ >��>���I� ���"����C��
>����������� ���� $��>%�&����J�B��$�%��� & ��&�D�� >��� �G���� B�&%B� $�� 
� �����%� D�� ��&���&%��I� ��
�G��%�>Bo>G���5�����D�B�&� >��������$��$���G��%�"��������G����&���&������"����C��znych.

J�&����������� �>%�#��D����������D����$��D�D�$-
- �G���?������I���&?��>&�&�������B��G����� ��%?���������

- oddalenie reperów od miejsca pomiaru,
- ���#�$�� ���������� ��$��� D�$�  �>��B���I� B#�$�G��� ��&#�%��  �D�& �� B�&�B���� &�� >��

�����&���>&%>�$��"� ��%�"����%�������B�%?���%���������B�?���owo-obliczeniowy.
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Wariant 1: optymalny

              reper 1                       reper 2

                                                                                                             ok. 4 km

          reper 3                                                                                                                   reper 4

Rys. 3. Wariant 1 – optymalny

J� B�&%B� $#� �������#� �B�%?����C�� ?�?%�  ���� �%>�$����� ��B��G�� 
� B�����%� ��� �%I
��B��%��������D��B���%&%D��D� !� �#�� !!�$��>%��5#�$�%��%&���&����>��#��$����������� $#���>&��#
ograni�&���C�� ��B���?�)� � ��CE�����  �� ��B��G�� >��C�D�� (� $?�� K����%� &�B������I� >�>D�
��>�����%D��� ��$�� ��%���B�&%B� $#��%&���&�������$���G�� ����&#D��%�"�B#�$�%� >$��D��� >����
 �� ��B��G��� �%E%� ����  E#�>&�� 
� �&� #� ��� 
��� ?��#��� J� B�&%B� $#� �%&���&����� ��$���G�

krótszych – mi� &%� B#�$��?�� >������?�C�� ����?��I�  E#C��I� �$�E�� (�� 
� +��?��#��� F�$E� �� >��
��&%�������� ��� �� ?��D>�#� B�?���#� ?�?%� B���� E���� � $�%�%� "��%&����� 5�&%� ��B����"� ?����
&�E��%I� � $�%��� B#�$�%� B�?�����&��� $�G�%�"� �%>�$����� �����%� &���������I� �� � ��B��G��
��&B���� ����B�&� �B�?����?��#����D�C�����$����� ���$����������?���&�B���otem).

Wyniki analiz uzyskane dla wariantu 1 zestawiono w tabeli 4.

Tabela 4

Nr punktu Hn z transformacji
(m)

Hn z modelu geoidy (Osada)
(m)

0201 176,691 176,784
8001 180,550 180,625
1231 186,846 186,925
1601 194,899 194,975
1801 192,912 192,986
2002 198,760 198,828
2582 207,860 207,920
1481 180,960 181,025
1489 175,531 175,626
1541 181,538 181,625
1549 175,401 175,482
1611 188,959 188.999
2101 200,695 200,760

punkty nowe
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��� ���� �G������ �%>�$����� �B#�$�G�� �%>&�&�CG�����%�"� �� �������� �����&��%�"� ��� B� 

stawie modelu i z transformacji wynosi – 0,074 m.

;����&���� ��$��� �%>�$����� ���?����� �� B#�$���"� �� ��%�"� ��B���?�� �����&%?�� ���&� �

punk���"��$�G�%�"��%>�$��������B>�� ������&�����&�$�����C#��J%��$��&�>�����������������(�

Tabela 5

Nr punktu
Hn z katalogu

(m)

Hn z modelu geoidy
(Kadaj)

(m)

$%�����

���������

(m)

RATA 239,340 239,359 -0,019

WREP 189,380 189,480 -0,100

RP31 226,140 226,223 -0,083

RAT1 242,560 242,585 -0,025

RSZC 182,000 182,074 -0,074

ROPT 190,091 190,132 -0,041

RPIO 188,474 188,574 -0,100

��� �����G�������%>�$��������?����D������&���D�&�?� ��#�C��� %���&�$�����C#��%��>��
���+�?�

��$� >�?�� �����&���� �G������  ��� B#�$�G�� � ���>������ �� �%�G�����#� >����� >����������D�� �&��
punk�G���>���%�B�&��?�D� !� $��>%��%��>�� 
� ���+��� 5�����������%�G�����#� B�&%D�����%>�$����
elip>�� ����� B#�$�G�� !� $��>%� D�$�� >��E��� ?�����  �?���?%��I�� ��� ���B>�� �� D�>�� ��� ��>&��&�
B�?���#� PB�&�>#�����	� �� �$�� +�(� �?�� 4 %�%�  �� �>&%>�$��"� ��������� �%>�$����� ���B>�� ���%�"
�B���� &�I� ��� �G������� ��� �G�������%>�$����������&��%�"�&�?� ��#� �������&��%�"�&� ����>L��?��D�

?�����E%��%�>�����C�������"��E� #��%�G����%�"��%>�$�������&����$��± 1 cm.

J���������
����#�$��?�E�� �C� ���

                                            Reper 2
ew. punkt POLREF

punkty nove

ok. 25 km

   reper 3                                                                                                                 reper 4
ew. punkt
POLREF

ok. 25 km

B7������0�*#�$ ���	�>�*D$6#�!�E"�-"1"-$%

reper 1
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J������� ���� �"���$���%&#D�� >���  #�%?�� � ��CE�����?�� ���%�"� B#�$�G�� � � ��B��G�� ���&

?���i������� ���$#� ��B��G�� 
� ?�C�� �%I� &�>��B����� B#�$��?�� 5;8<OS�� $�G��� ?�D�� �%>�$����
okre��������� �� &���������D�� ���"���&��D� !!!� $��>%�� �������?�D���%>�$�����?���D�  �$E� ��� ���
repe�%��������D��B���%&%D��D��6�>D����>�����%D��������%�&�B������I�B� ������D�$����ariancie 1.

Wariant 3 – warunki niedogodne.

      Reper 1
ew. punkt POLREF

Reper 2
         

 Reper 3

                      ok. 5 km

Rys. 5. Wariant 3 – warunki niedogodne

Rys. 6. Usytuowanie punktów przy pomiarze obiektu B
 (wariant 3 – warunki niedogodne)

Reper 4

Punkty nowe
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6B���G � � B��� � ���� B#�$�G�� $�?B����� ��>�����%D��D� ��� ����$���� 9��%������  �� �����&%

kilka�������B#�$�G����G���?���������&E����%�"��& E#���&�$���J��������+�&�>����������%>�$����
�%����%�"� B#�$�G�� �B�>�� �D��%�"� �%>�$����� &� �������D���� $�G��� �����&���� �� �B����#� �
przeB���� &��������>L��?a�D�����&����B����#���?� ���C��� %�

Tabela 6

Nr punktu Hn z niwelacji

(m)

Hn z transformacji

(m)

Hn z modelu geoidy (Kadaj)

(m)

N048 138,409 138,351 138,465

N098 142,449 142,364 142,441

N108 142,430 142,355 142,432

N332 173,926 173,969 173,962

N402 181,934 182,006 182,004

N448 191,746 191,822 191,811

N652 194,849 194,926 194,886

N682 195,704 195,802 195,756

N928 231,174 231,139 231,128

N942 228,603 228,637 228,631

N958 231,926 231,887 231,881

N968 231,086 231,071 231,065

N998 232,842 232,857 232,855

��� ���� �G������ �%>�$����� #&%>$��%�"� &� �������D�� �� ����>L��?��D�� �%��>�� (�(� �?�� �� &

niwelacji i z modelu geoidy 4,5 cm.

Wariant 4 – warunki skrajnie trudne.

    Punkt POLREF

Reper 2
                                                                                                             

 Reper 3

ok. 10 km

Rys. 7. Wariant 4 – warunki skrajnie trudne

Reper 1

Reper 4

Punkty nowe
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W warunkach skrajnie trudnych, których schemat przedstawiono na rysunku 7, pozostaje
�%�$�� �����&����� �%>�$����� �� �B����#� �� ?� ��� C��� %�� J%��$�� ����>L��?��D�� ���� B�&%���>�
zadowalaD��%�"���&#����G��

1.�F�*.#6� G��� �(*�>"?-�$#%� ?� (*�+� 1*�>#!% *7+?$7+)� >?-ED��  *�>%*�D� 1%"-7$�!#+?$%1"

SAGET na odcinku Lamkówko – Borowa Góra, Warszawa, 1994. 2. Dawidowicz K. Analiza
>(E7>D�*H�$7+)�+?7$$#6H>�$��>7?$�+?�$%�>7�"6"�+#�%.#(�"#-�lne z obserwacji GPS //�G� %*#�E7

konferencji naukowo technicznej., Piwniczna, 10 – 12 maj. 2001. 3. Dawidowicz K. Rozprawa
doktorska (w przygotowaniu) Wykorzystanie obserwacji GPS do wyznacza$#�� >7�"6"�+#�� /0G

Olsztyn, 2001. 4.���8-%*">#+?� ��� �*"5.%!7�  *�$�,"*!">�$#�� �#%+#� ���� -"� D6E�-D� (��� >">%1"

"1965", Zeszyty Naukowe ART Olsztyn, 1992. 5.�@�-�8�B���@"� "��@���I:;IJ�/$# *�$��	�"(#�

programu, 2000.

Karol Dawidowicz
Instytut Geodezji UWM w Olsztynie

@A@:BF@�4=3I@4A=�DB�C>FA@DF@AB@�C>*=3=�DB

Z POMIARÓW GPS

©�2�>#-">#+?�3�������

 '-,�5�2�2�� 2�������,��3��2-��0�>,�����*=,�,3 GPS-2������2���1�)���

)�*.>,-.� ��� ,�2� +��113�� � 2��2� -��-,!����� -1�,�2��!�� � 2��2� 1�2���2���
� 2��2�� -!.����3�� -� ��-1��-,�����2��� !�*�
� �� ��0)��� 2�� +��11� !3)�*��3
��-��*=��� /��,���!
� �!,��� !3���*� 1�� �)����� /��,���� 2�� ��0)��� +��113� 2
1��2�!�*� ���*2�� !*2.�2.� 24� ��� ,�5��-,=� �1��)�*��2.� !3-�,� ��� B**21-�2)�� -
1����=>�GPS-2������2�.

 The error sources distorted GPS measuring war divided on the three groups i
satellite, receiver and pulse propagation errors.  A few factors were distinguished in
every group. The analysis of the influence of the chosen one factor from every group on
the altitude definition accuracy over the ellipsoid by means of GPS measuring woos
made by author.

C ���

:�$�� ���I�B�?���G��456� �C�� #D��>&���C��&%���$G���;CG�������G E���E� G�� &����� >��
��� ��&%� C�#B%-� �E� %� &���&���� &� >��������� �E� %� &���&���� &� � ������$��?�� �E� %� >���&���� &
B��B�C��D��L����;������>����D��>&���C�B�&%�D���B�>#D��%�"��>������%�"�&�$E������3�L?���
J������L��

����� ����)� 8���$�� ���()� <��"��"��� �� ��������� ���+)� 7��� 6��$���� ���+��� ��� ��# ��� >B��$�I

�B���������� ��%�&������"��BE%�#���� �$E� ���I��%&���&������G�C����%>�$��������B>�� ���%�"
�;���$������� ������� JB��� &��� �� ����?� �BE%�G�� �&%���$G�� &������&�%�"� ��� �%��$�

B�?���G�� 456� B���������� �� �������#�&��  ��I�  #��� #��C��� ��� �� ���$>&����� B�&%B� $G�� �%E%
D� ��$� B���������� �%&���&���#� ��&�&C�� �%�"� ��������� �>BGE�&� �%�"� B#�$�G�� ?��� �
B>�# �� ��CE������ T���?� B���%� D�>�� &�� ����� �BE%�#� D���>L��%�� D�$����� ������ �� &?��������
B�E������������G��L�&��%�"���������� �$E� ���I��%&���&������G������%>�$��������B>�� ���%�"�




